J1809—-1943: J1809-1943.58470.16015728106667.749.fits

BC P(ms)= 5541.409326806 TC P(ms)= 5541.463000000 DM= 178.000 RAJ= 18:09:51.09 Decd= —19:43:51.9
BC MJD = 58470.168370 Centre freq(MHz) = 649.951 Bandwidth(MHz) = 200 | = 10.727 b = —0.158

NBin = 256 NChan = 4096 NSub = 42 TBin(ms) = 21.646 TSub(s) = 55.415 TSpan(s

) = 2327.414

P(us): offset = 0.00000, step = 10.00000, range = 2164.63398 DM: offset = 0.000, step = 0.500, range
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BC prd (ms): 5541.559325354 TC prd (ms): 5541.613000000 DM: 181.500 BC freq (Hz): 0.180454623
Corrn (ms): 0.149998547 Corrn (ms): 0.150000000 Corrn: 3.500 Freq err. (Hz): 0.000002579
Error (ms): 0.079192392 Error (ms): 0.079192392 Error: 5.373  Width (ms): 281.407
Best S/N: 702.39
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